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! fr AT Rwent ¥ BAEE @ A9 AfSv)
Ans x1_ ,;lu El'.é'

X2 g% 43

X5 s

v 4 e Ees

Question ID : 719399259
Status : Answered
Chosen Option : 3

? AEwrETTe TERd, ToERT &

Ans { 1 ?' = uﬁ

X 2 AEHEHe RS
X s faerge 3t
X 4 e R E

_ Y3E W UF GEE 2

Question ID : 719399277
Status : Not Answered
Chosen Option : --

3 o7 gfafafes & d@ew &, gffca w=g EBCDIC & qof &9 Fr 7

Ans XT

frrafye a5 #1855 FeFerd I F1s (Extended Binary Coded Decimal Information Code)

X2

Reafite ==l #gs 2fSea se== #1= (Extended Binary Coded Digital Interchange Code)

v 3




Traftg IEadr F12T qUHT = F1F (Extended Binary Coded Decimal Interchange Code)

X a

TET TS FIES AFTT TE{= T FE (External Binary Coded Decimal Interchange Code)

Question ID : 719399263
Status : Answered
Chosen Option : 4

Q4 O #F T FiF T FuS Tad B2

() T U WIS 597 § SN HqF T ¥ o0 9F 3R T B gEn B T o
(i) BT AEwETe I AT v 39 e g

XK Far () HRF E (i)

X 2 &Fer (i)
X3 2=t (i) 3 (i)
4w (i)
Question ID : 719399294
Status : Answered
Chosen Option : 4
Q5 s ﬁgﬁm%ﬁaﬁ?ﬁ%ﬁﬁm(platters)mmﬁ',ﬁéaﬂﬁ'éﬁ?ﬁ?mﬁl
A X1 =X 3%F (Blu-ray disk)
v o gg B e
X3 CD
X 4 DVD
Question ID : 719399255
Status : Answered
Chosen Option : 2
Q.6 mrEFmmiFe 9 F AT @EROT (¥UTF I 2016) H SEAES {BHiee T W TFEEYE F AT
HE=T ST &l
Ans X 1. deox
< 2 dotm
v 3 _docx
X 4 doc
Question ID : 719399272
Status : Answered
Chosen Option: 1
Q7 prEwraTre TeRe H, TEd IR TSRS f9E & feaE & &

A X e




v A
X 3 9% B
X 4 FIT

Question ID : 719399278
Status : Answered
Chosen Option : 1

¥ G 3T I hus I Rl fear marar?

Ans x.l_ ?E-IH

X 2. ATSHATFE
v 2 AfEer R
X 4 Toge

Question ID : 719399293
Status : Answered
Chosen Option : 4

Q.9 == e e fawes F ve Wisa & 3UE aFET @ Tee e gufed s 92 o ST o Far @ i

At X 1. mreel @Y TRt AT BIEd 8¢ & See)

X 2wz farged B & =l S
X 3

FE 9% WHEET HESr Fdr SO g€ o BIEd 8¢ FAar g

v 4
EA F WS [ 7 FgAA & foIT ITARTERAT $A9E & [T vE srHenT s @S

ol

Question ID : 719399271
Status : Answered
Chosen Option : 2

% T & ¥ FF AT TS T §?
Ans X 1.
WWW =T 90T &5 World Wide Web (355 3158 39) 21
v 2 WWW & FIf3es Z.00. % 91 g
X 3
WWW z7 3SR e 9ag-air ea@rT o amar o)

X4 WAWW & 81 g&ar & sexfoie aeaet 2

Question ID : 719399292
Status : Answered
Chosen Option : 2




U B F @ FiF o e @ R fwew 22
Ans o e

X 2 gie+g

v oETw

X 4 =19 (DOS)

Question ID : 719399265
Status : Answered
Chosen Option : 2

Q; A computer monitor is also called a VDU. What does the term VDU mean?
Ans  of 1. Video Display Unit

< 2. Video Dialysis Unit

/< 3. Vertical Dialysis Unit

7< 4. Vertical Display Unit

Question ID : 719399254
Status : Answered
Chosen Option : 4

03.1 HEFET ERAee H oy ey Y Teresw @ cgattya w3 F 39t ¥
Ans X 1. Hif¥eT (Reading)

/X 2. FTIROT (Normal)

X 3. @ifea (Outline)

v 4 ToTEE F AuiEE T Jren (Slide Sorter)

Question ID : 719399298
Status : Answered
Chosen Option : 2

U mrmREe 9 & disEr sraee See ¥ e frad aidee = 3
Ans K10 Alt + O

v Ctrl+ O

X3 Ctrl + N

X4 Alt + N

Question ID : 719399273
Status : Answered
Chosen Option : 2

051 TiFeEE 3T T AIIE 36 HE T H Sgod & [T T H AW Al g @ Fm FEr e g?




A o 1. fEfFeer (decryption)
X 2 Arsgele (modulation)
X 2 f3AETeRE (demodulation)
X 4 379ETT (subscription)

Question ID : 719399260
Status : Answered
Chosen Option : 2

Qé1 IYLETRAT 3SR & HEY H, HiEeane® CLl Bras e g G smEr 87

Ans X 1. Command Language Interrupt (FATE o7a=T SeT<c)
# 2 Command Line Interrupt (FHTS &TEd SeT)
v 2 Command Line Interface (FHTS ogd STHH)
X 4 Common Language Interface (FTHeT sfeasT ScT%hH)

Question ID : 719399268
Status : Answered
Chosen Option : 4

Q; A IaT ‘abedef.gmail.com’ 3T § FEITF A 9 H e #§ @ 4T g =fge?
v e AR SEw e @ aof
X 2 Ffewan v g () Fo7

X3 FH T FH TFh I HT FT 387

X 4 U HEATCHAS JOT

Question ID : 719399295
Status : Answered
Chosen Option : 1

% e & ¥ Sl @ 3T arres ad
Ans (1:'__'?3%

X 2 HIEeT JEUF

X 3 TéamRy

X 4 B fEvperdee

Question ID : 719399261
Status : Answered
Chosen Option : 3

Q1 = AFETT R 2016 F-w BT ST § A e #§ ¥ Fi W i vt w7 & wfF ger i




Ans xl ?ET
v g

p A |

o~

X 4. FBTHET

Question ID : 719399279
Status : Answered
Chosen Option: 3

062 et & @ @ WU T Th P2
(i) TTEwMETe TERUEE 2016 #H, ‘Tongs AT Fwew # Neg ¥9 F o7 @ M
(i) FTEHETE TEIEse 2016 #, srgfe & fifar sz F B, Insert tab > Media group & Video ™
fereter &L
Ans X1 e (i)
W 2 e (i)
X3 2=t (i) 3 (i)
X oo @ ar (i) st a8 (i)

Question ID : 719399299
Status : Not Answered
Chosen Option : --

01-2 TE oroee & o A ¥ 9 v R F IR 97 9 w0 & g # Sl e 37

Ans 1. ot TfRET (Character spacing)
v 2 3T TR (Paragraph spacing)
X 3 afda wf&T (Line spacing)
X 4 erez T (Word spacing)

Question ID : 719399274
Status : Answered
Chosen Option : 2

Qé2 o & @ #iF @ Reww &1 #R) fEw ¥ A @ s akiet F e SR

Ans X1 ufEeT (Editor)
X2 GUI
X 3 9 (Shell)

v 4 Fe (Kemel)

Question ID : 719399267
Status : Answered




l Chosen Option : 1

Q.2 RET 10 RBren & e Toaui® # aeoe ¥ fv fem F & e w9 = s9er B S aear §7
3

A X 1. ST WX weT s Reow e Y
X 2 3FperT W TRe Faw H AR T feew I
X 3. SRS 9T Fal o7 =9 e i

Y
STperT W T oo Y AN ‘Tusenger fawew #r T4

Question ID : 719399269
Status : Answered
Chosen Option : 3

Qf F (cache) AFRY & T &g ¥ ¥ oea # ¥ Frmer 39 R S g2

Ans of 1. SRAM
X< 2 DVD

X 2 =Y 8% (Blu-ray disk)
< 4 DRAM

Question ID : 719399257
Status : Answered
Chosen Option : 1

Qéz forT & ¥ FiF W Fua IO 2

() FEw ABE FYX F sifaF w7 F o7 AT 2
(i) FSeE ABHE FYX & TY HOR HA & [T SHRS A1 WA @ | TR
Far g
e X gt (i) 3R Gi)
v o T ar (i) 3T T 2 (i)

X 3 T (i)
X 4 Faer (i)
Question ID : 719399253
Status : Not Answered
Chosen Option : --
062 ATSFIEFE TFR H =TE &1 3YTRT AT A7 AT & TS w7 REe & B frar e §
Ans x 1. g9

X2




v 5 TS
X4 glae

Question ID : 719399287
Status : Answered
Chosen Option: 1

Q.2 a7 & Tl W fEg & Feedl F @ EEel B TIHERd A & e, 3 aaw § S gan weee

7 g R

Ans «1 ¥ ﬂ
X 2 FArEF
X3 g

X 4 e

Question ID : 719399290
Status : Answered
Chosen Option : 1

oéz frs Fuat € gTar F T T uiT BT § ¥ S @ Beew w5

y gwar g1
(iy FFEr & arfoe & IFaar H FgEoe T 1§ FF T4 & ar gl
Ans X1 (i) - eI, (i) - T

X 2 (i) - AT, (i) - T

2 (i) - I, (i) - I

X 4 (i) - |T, (i) - TToTT

AEHEFE 95 ¥ T difes J 9fFqar ar s S e @F ' 7 s g

Question ID : 719399276
Status : Not Answered
Chosen Option : --

9

R
X2 s
X gle AfgFw
X4 3 g

Q.2 X aeas # Fee W wEEs e e, s ) s 3k oifew saar 2

Question ID : 719399252
Status : Answered
Chosen Option : 3

Q3 gEFrare e TEle F e F @ w9 @ T @9 F oS 7 9eig e &7




Ans K1q-?i?'-(|“?~|TEﬂ'\"
v 2 Fm aFg
X3 Reg s’
X 4 zsfes s

Question ID : 719399280
Status : Answered
Chosen Option : 1

Q.3 2 foen & O e 1 718 9eow # 93 F 90 3= aE ¥ e F @ T @ e
YT &2

Ans x-]_
TR HEHA T TS TForeh e AR ‘FT fwes 1 94|
v 2
TR HEwa W Tse Fom 3 e Bwew #1791
X 3
TS HEHA W ave Fow L 3N s Rewew & 741

X 4 TS HEFST T ST Fel L

Question ID : 719399270
Status : Answered
Chosen Option : 3

02-3 e IrEaTre 92 eraET F Cirl + A R Ctrl + U 281 1 o geig u3em?
Ans xy

craras Fr mafr gy grEeT Fr vimste #T fTar Sree)
52

TSt & gt 9ST \@THE &7 sfores T g oem

X 3. gEara= $r T |rHEET ger & et
v
SEaTaw Fr Tt 9T TIHIAT FT HSTASS FT f&IT AT

Question ID : 719399275
Status : Answered
Chosen Option : 4

%® afE E @ ASCIl #13 01000101 ¥ & F & ASCIl &3 &7 2rem?
Ans 101010110
X 2 01000111
311000110




v 4 01000110

Question ID : 719399262
Status : Answered
Chosen Option : 2

L AEwwTTe T F R & O & @ B9 a1 FuT Ted 27

A FEele & e 3t EOw i A€ 8wl

X 2 fdr off IorefiT &7 A1 g 3T Tahar 2l
X s Briee ¥ ¥, T3HC T A1 AW W@T T
X 4 Briee T W, HEAT S5 T WA gl

Question ID : 719399281
Status : Not Answered
Chosen Option : --

°§ﬁﬁ:mm&ﬁaﬁmmﬁwmﬁmﬂ,maﬁr fErorwar #r Zafar T

Ans 1. mermEeferar (diligence)

V2 ET:;'ﬁTvIFlT (versatility)

X s afyeEar
X4 Ty
Question ID : 719399251
Status : Answered
Chosen Option: 3
Q3 F ETYe BAE ¥ S TE 97 F S9ART S 399 IUEedT ATe ahEH Seer 2

6

s X gt Aftew R
< 2. VDU
X 3 gFae WeT

v 4 oaTeT (plotter)

Question ID : 719399256
Status : Answered
Chosen Option : 4

0%3 ATSHIEFE TFler H AVERAGE () 5 & aX # & & @ &9 &1 &7 77 7

M TE T T F FEOE AT @ Sterdr B
X 2 Og g% AT F Az #r erar #




X 5 Ug T FEAT F gHElEE AT F At gl
X 4 Tg TF FeO F AT Fey F FAerar g

Question ID : 719399284
Status : Not Answered
Chosen Option : --
3 o1 & FF Treafaeament A v Wy BRES ATeTH F SIS A FHar 22
Ans  of 1. WAN
< 2 PAN
< 3. MAN
< 4 LAN
Question ID : 719399289
Status : Answered
Chosen Option : 1
Q.3 & .
o FFT # ¥ FiF WA Fua wwr T
(i) FTEHEFE TFESA H SFHES 3T F OIET 74T AT
HehddT|
(i) FTEFREHe THET & FFIE, Woe 37 B 2
e X gt (i) AR i)
X 2. hael (i)
W 3 e (i)
X4 g ar (i) 3T T 8 (i)
Question ID : 719399286
Status : Answered
Chosen Option : 1
064 T AT BwEIH § e 39T arEaas Segoa aqe & P B S #
Ans x 1 n k) a
X 2 FATSHETE TEAA
v 5. ATSHIAEFE grEaIdEe
X 4 FTEHEFE TS
[ Question ID : 719399297




Status : Answered
Chosen Option : 4

U = & T W T e w v
(i) ZFetae W e A= & e TELNET &7 393 &Far S 2
(i) $eTe ¥ 2 F=¥eI # IP 9 @ g
e (i) 3R G)
X2 aar (i) 3k a8 (i)
X 3 Faer (i)
X 4 Faer (i)

Question ID : 719399291
Status : Answered
Chosen Option : 1

U e 7 ¥ T vF DO T Uik OieeseY 32

Ans x 1. ﬁm
X 2
3TET JEUT JUmelr (Database management system)
X 3 fEe
' 4 91T quTreir (Payroll system)

Question ID : 719399258
Status : Answered
Chosen Option : 1

Q§4 ASCII-8 Te 8-fe arem w15 ¥ 3y 77 Rfire v & sfeanm Fuit @ Ela &7 GEar 2

Ans X 1.127
<2128
V'3 256
X 4. 255

Question ID : 719399264
Status : Answered
Chosen Option : 3

U Foger FeaF T F v wgmew FFGE H TR B E
Ans xl q_la_

X2

3 ar




X4 =T

Question ID : 719399288
Status : Answered
Chosen Option: 3

U AEFrETe T 2016 F T F @ #iF e du Gae A6 87
ans 1 AVERAGEA()

X 2 AVERAGE

X 3. AVERAGEIF()

v 2. MEAN()

Question ID : 719399285
Status : Answered
Chosen Option: 2

o § O F SO geetYg W J6r 87
Ans X1 POP

X 2. SMTP

v 3 FTP

X 4 IMAP

Question ID : 719399296
Status : Answered
Chosen Option : 2

U o AEwaiTe THld BeR &1 IIUTH F4T g

=AVERAGE(0, 10, 20)
Ans X1

v'210

23 #NULL!

X 415

Question ID : 719399283
Status : Answered
Chosen Option : 2

Qé4 ASHAITE TFHS H WS H T B & a6 F2 Foll AT A T FT FHF T2
e X der Fr Tl e & ST

X 2. BT HT FT o= g AT

X 3 Fe & SHA3E Fol Sall AT




v 4 e, UfET AT H S 0|

Question ID : 719399282
Status : Answered
Chosen Option : 4

Q.4 mAEwETFe qEIEEE 2016 H, FF (Zoom) SHWIE SFF & 3TUAR 'HE T (Zoom to) #F d=g T §7?
9

Ans o 1. 400%
X 2 200%
X 3 175%
X< 4 500%

Question ID : 719399300
Status : Answered
Chosen Option : 4

QS5 Rmsw v e AT fren ¥ T d @ sie @ Geww & SEREE gl & wew swor
0 JOTH FIAT &2

Ans «1
ey e YR ¥ gEITT 9T F1H FT 5T ¢l
X 2
forew UF & TFET & 7% IUeeas F TOE T TR B

X 3 Rew GUI & T91¢ &Y T 2l
54
foreT TF & AT H FT IRIAT F WU FI FHAT ¢

Question ID : 719399266
Status : Not Answered
Chosen Option : --

Section : General Reasoning

¥ R ety # T & dE w9

/

Ans X1 38
v 2 36
<324
x4 28

Question ID : 719399320




Status : Answered
Chosen Option : 2

Y o # ¥ 9 TEE-gIE g S 3 A9 @ B B

Ans X165 - 4
X2217 -6
X3 344 - 7
V4125 -5

Question ID : 719399305
Status : Answered
Chosen Option : 4

Q.3 g3 & FiT T 3 ST TUHET F AC o ¥ 147 9T g0 o ¥ 157 e & mew F g 2
Ans x1~ Q
X2 N
v M
X 4R

Question ID : 719399310
Status : Answered
Chosen Option: 3

Q4 foramer s W TEd FT 20 m o AR TEar § AR 3 a9 3T T A5 10 moTeer
fismhag gdsmImm SR s g IR A s maf@or Hr s T ) W oE AR @
#r 3T {3 F 25 m Tew ¥ TF F9T e fig F et g w7

Ans x-lz m
v25m
<310 m
K43m

Question ID : 719399315
Status : Answered
Chosen Option : 2

Q-5mﬁmﬁwmﬁﬁaﬁrmﬁmmﬁ§vrﬂ 'SEHT AT T ghelld IT FT et A
HTE 1" 30T T G FH GIEETG e odied @ AT Hey g7

o 3¢+ i
X2 T
/oo
X

Question ID : 719399303
Status : Answered
Chosen Option : 3




Q6 sz K+ LAt g K LA HE K- Ll K LR st K« Larad ¥ H K
LErag o o & & #la o1 ReeT ag aefar @ B X, Y & far 32

Ans XK1 X+Y *V-W
X2Xs=sY-V+W
XaXs=sY+V-W
ViX-Y+VsW

Question ID : 719399317
Status : Answered
Chosen Option : 4

Q7 frmr & 2 Fua Rw aw | OEEw w9 @ A9 T @ O @9 F aeeg FuE @ oFew A
ot @1 g #Av a7 AT T & e v sue @ fFE w7 @ ST ang T
fermrer/aererT|

T gt fie #
Fo foafear AfFer 1

et
. 75 fre wfrEE §
I. 7 =T et
e X Fae ey || B B
v 2 | 3R 1l g ey e B
X 3. Faer Ty | T g
X4 ar Ty | 3 T & ey 1| Feear B

Question ID : 719399306
Status : Answered
Chosen Option : 2

Q8 Oy & & 97 Roed oo of & T veg § 38 e FFOT § SF F gF g @S F @

GJMP : MPSV : : HKNQ : ?

Ans X 1. PRUW
v 2 NQTW
< 3 NPRT
X 4 SVXZ

Question ID : 719399304
Status : Answered
Chosen Option : 2




Q.9 e & @ 37 TEw 99 S I9h 9= @ 38 9o ¥ TR § 5 TN ¥ gEl §E 9Eer g
¥ FohT &

170 : 13 200 : 7
ans X115
v 17
X3 14
X419

Question ID : 719399309
Status : Answered
Chosen Option : 2

4 e 'Y g JEy g A TR o HEr ¥ g
Ans  of 1 =T

?(2.ﬁq-

X3 iy

X 4 TR

Question ID : 719399301
Status : Answered
Chosen Option : 3

Q1 fr o Remest # &, 38 weg F I F AT RE € weg F a7 A Fhar §| Fwow & wem F #S
1 FE Fad 3o A & SEAATH AT S HehaT § a9 #% Yo & oS & SEaATe B e B

CREATION

Ans  of 1. CENTRE
X 2 ORIENT
X 3 RATION
X 4 ACTION

Question ID : 719399314
Status : Answered
Chosen Option : 1

G & E iy B s 9 d#R T e Aa

5 4 ?\(5 9 6
21 44 ?
Ans x 1. 87

V2 75




X3 55
x4 63

Question ID : 719399318
Status : Answered
Chosen Option : 2

3; BT e o wré gfRT ¥ FEar 3, @ 9 e A g grerdy g # A T o A
I F WA & g, AU A gFENT A1 B ST @ AT FH FAT AT BT FAT 71 22

e K10
X2 439
vi7 a8
X419 ag

Question ID : 719399316
Status : Not Answered
Chosen Option : --

U Ru v Repedt F ¥ 77 BT g ST P TE s # 9t & wF
8, 27, 64, 125, ?

Ans 1. D56
X 2 236

X 3 164
v 216

Question ID : 719399302
Status : Answered
Chosen Option : 4

Q.1 f5r 3z amor &, ‘GREED’ &1 'JUHHG' @ o &1 &t 33 2 s & ‘FAIRY' &1 27 o s
5

Ans 1. IDLUZ
v 2 IDLUB
< 3 HDLUA
X 4 IDLUA

Question ID : 719399308
Status : Answered
Chosen Option : 2

Q.1 Ry siv 3= THewT § @, TS 2 vF i yomeh # R X g U o9 ¥ 39 auw 9 ST
6 meror, 3 B e 8 L WE 3o W A0

6+2=40,8+3=559+4=7

Ans !1. 65




X275
<380
< 4 60

Question ID : 719399313
Status : Answered
Chosen Option : 1

Ans x-|. FHIT
v o BT

X 3. ot
X4 AT

Vwmaaa g il

Question ID : 719399312
Status : Answered
Chosen Option : 2

TSR, PON, LKJ, HGF, ?
Ans 1. FED
X 2 GFE
v s DCB
X 4 EDC

0{31 T @ &1 9% ¥ TS v ug aend @1 Rv aw Rwest F @ 97 Reew 9 S g@en @ ot e

Question ID : 719399307
Status : Answered
Chosen Option : 3

FLOURISH

Ans X1 3LOUBI2 H
v 2 ETONKI2H
X3 ET0NYI2H
X 4 EFTONRISH

U = ¥ BT T RweT e e ¥ O F a9 wd wfafE A g i

Question ID : 719399319
Status : Answered
Chosen Option : 2

Q.2




Ans

2 wudt & g g fvw RBr aw § o w9 @ A9 qut @ e @ ¥ aeeg wue & e
T fFewst #r of 3R 77 FeifE =t & BT v wuEt @ afFe w7 @ #iF avg Tewy e
e

T we 9T §
T ¥ = F

ey
I @sft e 77
Il. @sh == 92 #

X ar Ty | a7 ey || Aeear £
X 2 Faer Ty | Feear g

v e | 3R 1l S ey e B

X 4 Faer Ty || BeFerar &

Question ID : 719399311
Status : Answered
Chosen Option : 2

Section : General Hindi

Y R A @ A W oaeT e R

X g i aF & mT @ B
V' 2 I QAT WE A
X s RN W HIg FH AL & Hepdll
X 4 T e FT FEd 2
Question ID : 719399332
Status : Answered
Chosen Option : 1
¥ rsear F FT T y=w
Ans XT T
X2d
X fr
ot

Question ID : 719399327
Status : Not Answered
Chosen Option : --

Q.3




Ans

s & & T &1 T & = weg T A2
X gefaw
X 2 e
X o arerterr
v . FrodT

Question ID : 719399331
Status : Not Answered
Chosen Option : --

Q.4

Ans

Feethel @ A@ie-fa=og gem
X 3+ T
X2 39 + J09
X3 39 + A4+
v o 3d + dqTT

Question ID : 719399321
Status : Answered
Chosen Option : 2

¥ e & gl Sl ger dRET FOARE &

Ans

X1 el smememel 21T 2
v 2 ST =g, 39 & T

X 3. SET =gaT, a8 7 g
X 4 e F gret g9 e

Question ID : 719399334
Status : Answered
Chosen Option: 3

0 ST ST TETEY T A

Ans

X 1. e gl
o 2 HHEAT BT

< 3. FgT WleAr
X 4 HF FHLAT

Question ID : 719399333
Status : Answered
Chosen Option: 1

Q.7




= & #i7 @ e agT 27
Ans X1 THA

v gH

?(3.??[

X 4 &

Question ID : 719399323
Status : Answered
Chosen Option : 2

*® e aF g @B Ter F e o g Aar &

Ans (1. ﬁ ﬂﬂ
X2 HAT
X 3 HAT

K4 gea

Question ID : 719399328
Status : Answered
Chosen Option: 3

¥ o F P T oo awmE B2

s 3¢ 1 il
v
X god
P

Question ID : 719399324
Status : Not Answered
Chosen Option : --

Question ID : 719399322
Status : Not Answered
Chosen Option : --




% FEr @1 fee gem
Ans x_l' ﬁé‘_q_

X 2 FEeT

X 3 grar

W 4 FEOT

Question ID : 719399330
Status : Answered
Chosen Option: 3

% e B YR #r T §?
e XK. ofgaars
X 2 gegaEh

v 3 sfeETE
X 4 oTaaTeeR

Question ID : 719399335
Status : Answered
Chosen Option : 1

Y o F FE T e SR
Ans (1. m

X2 B

X3 Ax

X 4 afyEvEe

Question ID : 719399325
Status : Answered
Chosen Option : 2

UV gqufy & FF ar sgEe 3
Ans x-]_ =g
X2 &
viyg
Xaq

Question ID : 719399326
Status : Answered
Chosen Option : 2

Ans (1 ST

UV e F T @ i FT oTaEr a8 3




2 T
X3 A
P

Question ID : 719399329
Status : Answered
Chosen Option : 2

Section : General English

Q1 Select the most appropriate synonym of the given word.

IMPERIAL
Ans X 1. extravagant

/< 2. decorative

/< 3. ornamental
+ 4 royal

Question ID : 719399341
Status : Not Answered
Chosen Option : --

Q2 gelect the most appropriate option to fill in the blank.

India has rich resources

Ans X 1. Both, and

« 2. Although, yet

X 3. As, so
/< 4 Hardly, when

it is poor.

Question ID : 719399340
Status : Not Answered
Chosen Option : --

Q3 Select the most appropriate ANTONYM of the given word.

HAUGHTY

Ans X 1. conceited
' 2 humble
/< 3. overconfident

/< 4. snooty

Question ID : 719399344
Status : Not Answered
Chosen Option : --




Q4 Select the most appropriate idiom to fill in the blank.

Let us rest before we start walking again.

Ans  of 1. for a while
/< 2. for good

/< 3. on the whole
/< 4. in the long run

Question ID : 719399348
Status : Not Answered
Chosen Option : --

Q5 Select the correct passive form of the given sentence.

How much money do you save in a year?
Ans 1. How much money has been saved by you in a vear?
+ 2. How much money is-saved by vou in a year?
/< 3. How much money has saved you in a year?

/< 4 How mmuch money is being saved by vou in a vear?

Question ID : 719399350
Status : Not Answered
Chosen Option : --

Q6 Select the INCORRECTLY spelt word.
Ans X 1. Jaunch

/< 2. laugh

« 3. laundery

< 4 laurel

Question ID : 719399346
Status : Not Answered
Chosen Option : --

Q7 Select the most appropriate synonym of the given word.

PLEAD

Ans  of 1. appeal
X 2 allow
/< 3. explain

X 4 argue

Question ID : 719399342




Status : Not Answered
Chosen Option : --

Q8 gSelect the most appropriate option to fill in the blank.

The villagers ~ to extinguish the fire when the fire brigade arrived.
Ans X1 tried
#< 2 have tried
« 3. were trving
/< 4. are trying

Question ID : 719399338
Status : Not Answered
Chosen Option : --

Q9 Select the most appropriate ANTONYM of the given word.

AFFECTIONATE
Ans of 1. cold

/< 2. loving

/< 3. friendly

X 4 warm

Question ID : 719399343
Status : Not Answered
Chosen Option : --

Q.1 i i i
o Select the most appropriate option to fill in the blank.

We are not a hurry. You can take your time.

Ans Jy in
X 2 at
X< 3 to
X 4 for

Question ID : 719399337
Status : Not Answered
Chosen Option : --

Q.1 e 2 : :
; Select the most appropriate option to fill in the blank.

The cattle in the field since morning.

Ans  of 1. have been grazing
X 2. grazes
X 3. had grazed




/< 4. are grazing

Question ID : 719399339
Status : Not Answered
Chosen Option : --

2 from the given options.

You need taking/ some guidance/ in chemistry.

Ans o 1. You need taking
< 2. No error
/< 3. in chemistry

/< 4 some guidance

Q.1 The following sentence has been divided into three parts. One of them may be incorrect. Choose the INCORRECT part

Question ID : 719399347
Status : Not Answered
Chosen Option : --

3

Ans X1'

X2

Q1 Select the correct passive form of the given sentence.

We water these plants every day in the morning.

These plants have been watered by us every day in the morning.

These plants are being watered by us every dayin‘the morning.
/< 3. We are watered by these plants every day in the morning.

« 4 These plants are watered by us every day in the morning.

Question ID : 719399349
Status : Not Answered
Chosen Option : --

Ans 1. dispensery
/< 2. dispansary
/< 3. despensary
« 4 dispensary

Q.1 3
o Select the correctly spelt word.

Question ID : 719399345
Status : Not Answered
Chosen Option : --

Q.1 e 2 : :
. Select the most appropriate option to fill in the blank.

She is officer in the local branch of Canara Bank.




Ans X 1. g
v 2 an
2 3 the
X 4 one

Question ID : 719399336
Status : Answered
Chosen Option : 4

Section : Technical

Q.1 v 4- O T T=AETET (3eeTAE) 1500 RPM 9T el T@T &1 ToOafas & fes _ g@efnl
Ars of 1. 50 Hz

< 2 80 Hz

<330 Hz

X 4 40 Hz

Question ID : 719399470
Status : Answered
Chosen Option : 1

Q2 PyC Fge aeh Iafer & Awer &, PVC #ge a0 & Jead A geh S
Ans X 1.3.0 mm

<225 mm

v': 15 mm

X 420 mm

Question ID : 719399493
Status : Answered
Chosen Option : 4

¥ #d= Fex, wF e 0 e
s g L=l

x 2. Ia T Ise
Xl +1

a se
Xl X g

Question ID : 719399417
Status : Answered
Chosen Option : 1
Q4 _- .

Fleh T IR s == 2l

X JERT W e




Jz.mﬁﬂﬁﬁrzrw

X s TEhr HEaE
X a4 gﬁﬁﬁl‘&' E)
Question ID : 719399386
Status : Answered
Chosen Option : 2
Q3 BIS & e, e o FEurw & afbean At FE H IFAT ¢

o oot A Rega ORT # 1/5000
X 2 qur &3 fagga amr @ 1/3000
X s QU s fagga amr @ 1/100
X 4 quT @i Rega gra & 1/2000

Question ID : 719399375
Status : Answered
Chosen Option : 1

¥ R Fow FT gTET & BT S B

Ans xl ﬁ ]_
X 2. FRGTAT FehTT STIEAT

X o foemg & gt T Ferrer sqaT
V' 4 FSTEEr YeRTel SHaEeT

Question ID : 719399468
Status : Answered
Chosen Option : 4

Q7 Afees W S99 & BT, SO & o I el A #radr ¥
Ans X 1. 500 HP

/< 2 1000 HP

V'3 2200 HP

< 4. 2000 HP

Question ID : 719399452
Status : Answered
Chosen Option : 3

Q8 BIS % 3R, T wEe Wike F A A= T 3fow A& = TR
Ans of 1. 800 W




# 21000 W
X3 100 W
<4 500 W

Question ID : 719399376
Status : Answered
Chosen Option : 1

®° FeprafteT FT FERT
e X1 Freeer
X2 FIET
v ot
X FEfed

A ¥ AT BT S 2

Question ID : 719399434
Status : Answered
Chosen Option: 3

G @ semaf (areee) & geaed & v gEw o {2
A X Fger oify 3k TeaaTEtier Sees @ B =feu
v o A5, Hgfed 3R B HGHA TAR g TR
X 3 Fhaer 3Tgfea 3R &R TEE @ 2T

X 4 Faer 1ty 3k 97 TEE @ TR

Question ID : 719399472
Status : Answered
Chosen Option : 2

Ans x1~ . Ei?q_

X 3 STEhT BT
X 4 AT TR

v 2 FFUREH TR

U 3 ARk W, v B A A F Bw vER A aEfE @ g2 R s 32

Question ID : 719399457
Status : Answered
Chosen Option : 2

Ans X 1. Coil pitch = Pole pitch

Q; What is the relation between coil-pitch and pole-pitch in full pitch winding?




< 2. Coil pitch = Back pitch
' 3. Coil pitch = Pole pitch
/< 4. Coll pitch < Pole pitch

Question ID : 719399460
Status : Answered
Chosen Option : 3

% grenR R faw R AR @ S e 2
A XKL T HT oee &

v s T @

X 3 grafie aEfEeT ¥

X o+ Srufis S afid AR A @

Question ID : 719399424
Status : Answered
Chosen Option : 2

Q{-“ e 3TN H T deT & e Geaila § @ B e & w3 B S 82

AN 51 drer
v faw
X3 Gl
X“-HiﬁT

Question ID : 719399495
Status : Answered
Chosen Option : 2

U g & sy dares T ofw @ FREE aAEe grar ¥
Ans < 1. 2800 °C

v 2. 2200 °C
/< 3 3000 °C
< 42000 °C
Question ID : 719399465
Status : Answered
Chosen Option : 2
Q.1 fEo9 Tior Hier &7 TN Fef 0T AeT F T 97 afaar & S g, e T ATITF 2
6

e X1 FH 9REE w1
X 2 FegE giEe #i




X 3. FeOH ofeg FE
v 3T gRiEew Tl

Question ID : 719399486
Status : Answered
Chosen Option : 4

0%1 BIS ¥ R, TF a15e b7 ¥ 39 9wy &, 30Fam oEe ¥ #0% Ad A Wl
Ans X115

X238

V310

X412

Question ID : 719399374
Status : Answered
Chosen Option: 3

% BHax # B T giatafees w1 g

me g s
X 2 e 3T
X 3 g HEEE gedcT
X4 gfersgst

Question ID : 719399389
Status : Answered
Chosen Option: 1

UV e F Y g Aoy oy o ¥ U F ar smar 32

s X1 g 9
X2 drdrer
v m SR
X o oo

Question ID : 719399498
Status : Answered
Chosen Option: 3

dewaﬁgm{@mé@aﬂm & e B =1 @ 2

X1 Faer DC amafd
V2 AC 3R DC gt amgfd




X 3 FFer AC HTIfS
X 4 TIEA AT

Question ID : 719399433
Status : Answered
Chosen Option: 2

W2 e # ¥ FiF W IR0 T ORI & ga-fhe & 7 9 S 3
Ans o1 TR FEER

X2 T o

X o FoFIRIae =T

v 1 AEH
Question ID : 719399357
Status : Answered
Chosen Option : 4
.2 .
% DC =T ¥ fBarg oY FH FI ¢
Ans ~ . e @ Fae
X2 37 = FTH
X3 Bea # AT

v o BT F Rega TR wor & T

Question ID : 719399414
Status : Answered
Chosen Option : 4

Y ufdg FRF (TR ) F HOFIT AT 2l
e X1 s & 3o

X2 THE T FH

v g

X4 T

Question ID : 719399393
Status : Answered
Chosen Option: 3

WV o A ¥ B R AT (diamagnetic) TeTer 7
i e, T8 sl w=r




X 2 oigr, =mer i w=ur
X 5. afean, vegEaAgs 3R =6
X 4 agr, e 3T FEee

Question ID : 719399387
Status : Answered
Chosen Option : 1

Y AC wfde # oot gfRy = el ST 2

Ans 1 qrReT
X 2 gigee
v o gfETer
X 4 enfar

Question ID : 719399401
Status : Answered
Chosen Option: 3

Qéz W2 F RS & uEe uE & MEER, SEEE (M) & T T 2

Ans X1, ZST
X2 ZFT
v ZIT
X 4 ZAT

Question ID : 719399402
Status : Answered
Chosen Option : 3

07-2 WD ¥ Tt &, ke § sdEe T I 9 -Rw Bt fr epaR EEw 7

Ans «1 Eﬁ-
X2 Th
X ad=
X 4 =T

Question ID : 719399382
Status : Answered
Chosen Option : 1

Q.2 300 v 7= $ir I F JrecHeT w1 seTs (HfFm) 40 V 2, ST Hex Tawear fEew 30 V

8 w2 a dreer wemis (@R £ T HY
s of 14V
N2




X330V
X440V

Question ID : 719399435
Status : Answered
Chosen Option : 4

U2 gt dbr & o F @ B TER B @ w1 9@ R e 82
A g

X 2 F7Er FEFe

X 3 TR FEF

X4 drar A T FEeeT

Question ID : 719399408
Status : Answered
Chosen Option : 4

Qd3uﬁ50hm¢mﬂ9ﬁﬂ%wajamﬁ§$§v%,a¥smmﬂ g
Ans 1. 20 Ohm

X 2 5 Ohm

< 310 Ohm

v 4+ 15 Ohm

Question ID : 719399499
Status : Answered
Chosen Option : 4

01-3 BIS ¥ 3@, sz #e (DC) & 3 &, u=ers, Fonens HR TeEy a8 & T # FAn
&

K0 e, b sk w
V' 2 g, e 3R Fer
X 5 dTe, 8, HR e

X 4 wIer, FTem AT g

Question ID : 719399371
Status : Answered
Chosen Option : 4

Q.3 7% 100 A/ 5 A 3T & CT (i gser) 5 A & wrien #iet & 997 &1 iy areare (§ifFn)
2 3 A § O areataE e Fr e F:

Ans o1 60 A
X230 A
X'3.100 A




X410 A

Question ID : 719399437
Status : Answered
Chosen Option: 1

% CFL =1 qof &9 &1 §2

A" o1 compact fluorescent lamp (FredFe FERIEE o)

X 2 common filament lamp (FAT Tremde =)
X 3. complete filament lamp (FFaeie fhamde o)
X 4 contact fluorescent lamp (FlFese FARIHE 1)

Question ID : 719399462
Status : Answered
Chosen Option : 1

Qfasrm?‘rﬁqg?rtrm(uﬁrm‘aﬁrﬁs}wraﬁmrm # o S B
Ans X 1.
asEer # ST Fr §ifEsT (wastage heating in winding)
X2 Aeg 7 sfFer
X = AT 7 HloEr

v 4 MC HreT & e

Question ID : 719399391
Status : Answered
Chosen Option : 4

5
Ans o

v FTerR

Q3 ST (SFRAER) T I TETaT SO & forw far Smer 2

Question ID : 719399478
Status : Answered
Chosen Option : 1

Y gy eeme) ST aF d

Ans 1. Watt
v 2 KVA
X 3. KWH




X 4 KWA

Question ID : 719399471
Status : Answered
Chosen Option : 2

Q.3 & & yomeh F dgfe it seglea ar F A F R e & ¥ e =y w5 s e s
7

Ans XK. mmr-aTe Hex weta
X 2 dra-are Hrex 9=
X 3 vep-are #ex wefa
v 4 grare fHer 9=y

Question ID : 719399490
Status : Answered
Chosen Option : 2

S T Ao A Ra v dw e afem _ g@er ¥
Ane X1 40% 3R 60%

X 2 20% 3T 80%

23 80% 3K 20%

v 4 60% 3T 40%

Question ID : 719399362
Status : Answered
Chosen Option : 4

U3 AfE g7 v WO HeX F AT F A A & A swh Y =0
X iy # % IREde @ g

X 2 I =R AT g A

W 3 Tl 3medr 8@ S

XK o A 2 AT 8T AT

Question ID : 719399439
Status : Answered
Chosen Option : 3

U o # ¥ W AT F FH AR & WA H HTTHRAT 2 32
Ans «1.9_{01_@2_{

X2 DC ¥l AKX

X = giAaded AT




X 4 fEa T AT

Question ID : 719399449
Status : Answered
Chosen Option: 1

% st W, oo fege SR T A amar @ g
Ans X 1.100 KVA & 10000 KVA

/< 2 50 KVA & 500 KVA

v': 05 KVA & 110 KVA

#4100 KVA & 1000 KVA

Question ID : 719399477
Status : Answered
Chosen Option : 3

% e wfeET WU AT TH @ B
A of 1 wpaE-ther AC AT

X 2 I A

X 3 oI AT

X 4 DC AT

Question ID : 719399447
Status : Answered
Chosen Option: 1

S v T g%a g & Aitewan deE @ g
Ans X110 m

<26 m

v:5m

X48m

Question ID : 719399461
Status : Answered
Chosen Option : 3

Q:i4 In three-phase supply system, which type of earth leakage circuit breaker is used?

Ans  of 1. Four poles
/< 2. Double pole
/< 3. Three poles
< 4. Single pole




Question ID : 719399385
Status : Answered
Chosen Option : 3

% werfier 3k e aafer & @i e AT FT 2
s x faegda & @ 180°

X 2 TegdT w9 & 120°

X o fegda & & 360°

v o faegda w7 & 90°

Question ID : 719399451
Status : Answered
Chosen Option : 4

U drar oftrs S & o & @ T TemeeTEE W wEET R ST 7
e X yAfaTE TeinTsE

X 2 grEgFae TS

X 3. iz FenEs

v o G (TeTE) e URRE

Question ID : 719399403
Status : Answered
Chosen Option : 4

U AC FEfEer &, 3o = F HIT H A F
e X arEfEe SRTe - 9 ae

v 2 FrEfEeT T / e AaRT

A3 g9 HaUe / 9 e

X 4 Oter Harer / argfEeT Aae

Question ID : 719399458
Status : Answered
Chosen Option: 2

% OCB & quT &9 &7 87

A"« 1 Oil Circuit Breaker (3@ Tfhe 3=)
# 2 On load Circuit Breaker (3T &g e FI)
X 3. Off Circuit Breaker (3% ®fhe s7)




X 4 Over Load Circuit Breaker (38T =#i5 ®fée §e7)

Question ID : 719399481
Status : Answered
Chosen Option : 1

% s Aer ofy R §, & o et

Ans X1 50%
v 2 100%
X3 1%
X o YT

Question ID : 719399444
Status : Answered
Chosen Option: 2

% DC #AeY Tery e 991 & 2 7

Ans X1 2 GERIT
V' 2 3 9ER
X3 4 g
X 41 9hR

Question ID : 719399418
Status : Answered
Chosen Option : 2

5 iR AT & sEAATT B FTe goFeliae i BT TET theed FT 87

Ans  of 1. 98%
X 2 50%
X 3 75%
X 4 30%

Question ID : 719399467
Status : Answered
Chosen Option : 3

Y ama #, Ree & e amgfed gl

Ans 11000 Hz
X2 20 Hz
# 3. 5000 Hz
v 4 50 Hz

Question ID : 719399394
Status : Answered




Chosen Option : 4

AR FaAEF T A EE ¥
e X 1.0 & 12 SWG

X2 0% 42 SWG

v'3 0T 36 SWG

X4 0% 22 SWG

Question ID : 719399355
Status : Answered
Chosen Option: 3

045 T U7 oS ATer RGN H, a1 &7 1000 Watt ¥ 3T &5 W & T 1o wY)

Ans X 1. 750 W
V2 250 W
< 3 500 W
2 41000 W

Question ID : 719399426

Status : Answered

Chosen Option : 2
Y s yrfeTe 39T R T FET L

Ans XT __ﬂ:’a_cam_m
X 2. GeRTer eI
v 5 dieEafEes g
# 4 graErafas gag

Question ID : 719399436
Status : Answered
Chosen Option : 3

L DC Bl FeX T TREAF F
Ans o1 T

o 3=
X 3. FEOH

X o TG T

@ gl

Question ID : 719399419
Status : Answered
Chosen Option : 2

Q.5




7 o wRE # O FIUT T FEHaT H A & T TRar Faw 2
Ans x1' 600

v 2 90°
X< 3 30°
X 4 45°

Question ID : 719399353
Status : Answered
Chosen Option : 2

S gty 7 w1 fEig T 32
I S e

iz.mmﬁ@agﬁmﬁw
X 3. g 7 TEE
X 4 Femaa () e TaE

Question ID : 719399474
Status : Answered
Chosen Option : 2

Y % ©iE sToa & FeT 7 gaed g &l
e X118 2%

K215 & 2.5%
v 3 075 ¥ 1.0%
< 401% 05%

Question ID : 719399356
Status : Answered
Chosen Option : 1

% MCB & quT ¥ gl

Ans

v 1. miniature circuit breaker (AfRT=R e s7)
& 2 minimum current breaker (ATHEA FT )
2 3 minimum circuit breaker (REHAA ke I
& 4 maximum circuit breaker (ATFTFEA T 1)

Question ID : 719399379
Status : Answered
Chosen Option : 1

Q.6




1 gemadr g seTar #, s@er #§ % @Ee gam oty e §
A X 1. DP fEwr

v zx I
X3 g1 e
X 4 SP B
Question ID : 719399464
Status : Answered
Chosen Option : 2
U° BIS ¥ HgER, B T TF F T A FFAIHA FAE g =R
Ans of 1. 275 m
X210 m
X320m
X415 m
Question ID : 719399372
Status : Answered
Chosen Option : 1
A0 deesr AfFer #, 650 V F 33000 V F & FrFwr F el ST 2
e X e A
“2' == E!@EE
X 3 FegH Jeed

X4 w1y =9 A

Question ID : 719399363
Status : Answered
Chosen Option : 2

046 uﬁisva’l:szﬁaa'umﬁg?gcé‘,éﬁwzﬂaﬁﬂﬁﬂﬁﬂnﬁgsrg'm%,a‘rﬁﬂgﬁraﬁm
grm

Ans o 1. 6.0 V
X2120V
X375V
X490V

Question ID : 719399409
Status : Answered
Chosen Option : 1

U HT IORE YOS F o 4 7
Ans X g8, g, O, o, fe anf




X 2 greg, 99, gfedr, 9@ He|

v

gt AR FeAT Beaer, 9fedn, SR 99, e Sae, STl
X 4 TEgw, dehe, €e, W A

Question ID : 719399485
Status : Answered
Chosen Option : 4

% emst yeyr sgeEdr #, Rl aeg W frae Qo w=d 12

Ans X1 50%
X 2 10%
v': 90%
X 4 70%

Question ID : 719399466
Status : Answered
Chosen Option: 3

Qf TF 1200 m X H 60 Q F Iy g1 240 Hex X F giawrer FHr ToEr F:

Ans X110 Q
v212 0
X315 Q
X4200

Question ID : 719399368
Status : Answered
Chosen Option : 2

Qéﬁsls#aaﬂmsmﬁaﬁraﬁm@g#m%q& ¥ FH AL g =g

Ans X'1.10.0 m
v 215 m
<380m
X450m

Question ID : 719399383
Status : Answered
Chosen Option : 2

Ve gaemR s ¥
Ans x1‘=|'I'=IT + 5
X 2. HTEr TEEHT




X 3. RY-334 THRET
v i R-HT TTEBHT

Question ID : 719399428
Status : Answered
Chosen Option : 3

YV s F ST F Rw, o () T o s aa

e Ko aidr A A
X2 e 3R daa
X3 fReper it e

v o TegfafETe i amEr

Question ID : 719399365
Status : Answered
Chosen Option : 2

01-7 S Us Wi UilE Sl @ 3w i @ HEe s FueRa e s § & e aftg gar &2

Ans X 1. gTTOT
X2 gt
v o gepter
X 4 HTFEES

Question ID : 719399406
Status : Answered
Chosen Option : 2

Y v AR H gfeRTereRar A TR 2T TR

LY

Ans o 1 FETH, 3=
v o=, T
X 3 HACUH, FLOH
X 4 3=, HEOH

Question ID : 719399484
Status : Answered
Chosen Option: 2

% 2mfies AC afd &, RMS A

ans X1.0.101
X2 0.888
X3 0.637




V4 0.707

Question ID : 719399395
Status : Answered
Chosen Option : 4

U7 &= et Siex R SRl @ % e, Hae FR FT =T TR

Ans X 1. EEaT
X2 e
FalE- 08
v g d

Question ID : 719399492
Status : Answered
Chosen Option : 4

% ACSR @ quT &7 T 22

Ans x-]_

Aluminum Conductor Super Reinforced (Tegffiaa FsaeX g NEawIEs)

X 2

Aluminum Conductor Solid Reinforced (Tedffies #sSecX Alfos NSAHIES)

v 3

Aluminum Conductor Steel Reinforced (Tedffaa Fsael Tl NEawies)

p

Aluminum Current Steel Reinforced (Tegfiaa #T e REAHIEs)

Question ID : 719399483
Status : Answered
Chosen Option : 3

Q7 crEmr #r geeT & e smwek =R g & R F e R s §2

ms X1 i wE R

X 2 off % fer
X3 @ I =
V' i geFges e

Question ID : 719399423
Status : Answered
Chosen Option : 4

Y R ey & O FgEE AN T TeER 1 wAeT A S 87

A o HTERART TR - ST WY

X 2 DOL FRT




X 3 4972 T
X 4 AT TAEBHT TR

Question ID : 719399442
Status : Answered
Chosen Option : 1

% T faegd 3oes WO HT e G wgAAH £7
s S SaTRE

Ko e s

X

v T

Question ID : 719399475
Status : Answered
Chosen Option : 4

O LN S —
X 2 BO-HT FHT
V'3 TS TTHGET TR
X 4 HTEERRS A5l 9K

U FE TR % ZEBER H TANT dedd FFemser & v B war §2

Question ID : 719399427
Status : Answered
Chosen Option : 3

Y e # ¥ g AT # Fw gy o T g 87
Ans x‘lﬂﬂ-ﬁ-@ﬁ

X2 Z5 AT

v Rfaas aw

X 4+ @ JeTss d

Question ID : 719399405
Status : Answered
Chosen Option : 3

A X1 west (Jaw) Fr FES

% w1 & fow, A= (Vice) @ =g oy AT war §




X 2 et (Jaw) & IS
X 3 et (Jaw) T FIHEAT
4 Fes (Jaw) FT HTFR

Question ID : 719399354
Status : Answered
Chosen Option : 4

U8 e A (L sf@em) MCB &7 3 9sier &9 & s foRar e B
e wmsefaE afde

X2 DC #fFe

X 5. sET B

X 4 AT gfeke

Question ID : 719399381
Status : Answered
Chosen Option: 1

Qés When iron loss and copper loss are equal, transformer efficiency will be

Ans X 1. half
v 2 full
X 3. one fourth
X 4. zero
Question ID : 719399429
Status : Answered
Chosen Option : 2
.8 - 3
% TR RS SeUes T 1 Sue 2l
v e sk ot
X 2 arer
X 3 e
X4 B e
Question ID : 719399476
Status : Answered
Chosen Option : 1
Q.8 g =
5 T & gaeT Peaassr 7 Far Jar
Ans xl Qi?..r

<2 Fafe




v T

[
X 4 EE 9
Question ID : 719399497
Status : Answered
Chosen Option : 3
U8 S %t Al guTe &, SRR Fiew F @9 B AW grar
Ans X 1.180°
v 2 120°
X 3.90°
X 4 60°
Question ID : 719399398
Status : Answered
Chosen Option : 2
.8 ¢
Y teer T F TS e T B

A e e
X 23 & aeeT
X 3 1/3 B e
X 4 3 e e

Question ID : 719399397
Status : Answered
Chosen Option : 1

Y AT I A, SoeERT & W gOnT & Sar g
M wrERIT wET

X 2 Rper

X o e

?(4.?@311‘%‘&?4‘

Question ID : 719399431
Status : Answered
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% TEFET H, FE F IFER FF TR F a7y # afmas @ g2
Ans ?(133”3;‘[(@)3“3&-&-

X 2 e &
X 3 dg &




v e FT e

Question ID : 719399430
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069 e ofds ¥l & soedemse T a4 | § e orelt T ST R S 3

Ans v".]. m
X 2 T
X3 R.O.
X4z
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01-9 Tezadf e # wae @ F arafie & G S §, S oF o ¥ oy g gl

A o e il vt T
X 2 T T

X3 T off T
X 4 gr FuTe
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Qé9 TR T S T IR e ad T s R Ga s S awm waa &2

s X 1. FuEE 15T SRR
X 29I 9138 FATT
v @ 938 AT
X4 gt HUE3E FAleT

Question ID : 719399413
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Chosen Option: 3

Qé" e & & BFwe AT Faw # ARE QT e e & e e a8

ans X 1. PVC
X 2 FOE
v Fafeg ar
X4 @3
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Q.9 FewmEe Fey F YT T (€7F) TET H AR A e @) vy w e & e e
4 qoreT SR Smar g2

X 2 & fre Tl
X > werfEr e
Vo ¥ A

Question ID : 719399454
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% wafe & Aftes R Hr ol smefeT gl

Ans X1.100 Hz
v'2 60 Hz
X 3 50 Hz
X 4 20 Hz

Question ID : 719399480
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%Y e Rfrer g ofFT (@ TR) F FUST BT B
Ans of 1746 W

# 21000 W

X3 7355 W

X 4 500 W
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L aftmy (Ffde) F soEa B U T g9 FaT ST 2

Ans XT }nq%_
v 2 dree
X 3. gfeRrer
X 4 JIIATA
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l Chosen Option : 2

059 foamt, stErett A =8 gUd i # ot # Rege agfd & gren wefiwar w o &7 g
foega i smea & feam = 2

A 1110 Seee
X< 2 90 T
23 440 e
X 4 220 AT
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Qé9 R v goawtow AT Afa seafad (TFaases) g o W §, aF afFd FRew grm

Ans x.l. aﬂ
v 2. 3EETEr
/< 3. oeTraTAT
X 4 SHES

Question ID : 719399453
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Y G HieT F g T
" e A
A 2 9qoT HeX
X 3 ol AT
X o gfeTae A

_ = BT ve =i AR R

Question ID : 719399455
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V! =&t (zow o) weoafs & Rw 5@ R & Aex @ =T B s 2

As X 1. aftreee 9 TR

FT TSI

v 2 SoATRR 91T 9 FT UeT
X 3 B & g & AT
X 4GBl OF &l FN H UK
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% DC Selex # FFgeey 1 F1 Fd 37
e X afy @ R s
X 2 AC T & DC #e H T
V'3 AC Frees & DC aees ® s
X 4 FEgeer # g s

Question ID : 719399410
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Q.1 BIS ¥ @R, Bl o TEUTE #, 7 1% W 30waN ded aF (§9) ¥ 3w g g
03 o
Ans (1_ 300

X 21%

X3 2%

X 4 5%
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Ul e &7 1ol sl oIS #, S wRe _ Feeew F 3umey A e ¥
Ans X 1 TET

Xz.%@m

X3 FATR

v g
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Q1 ofy @ 7 A w, o, 87 AT gEET & w6 7§ dr I S e 9w &7 e w2 geme

05

Are 12410
X< 21420
X 3. 7450
X+ 3410

5% Q
10% Q
5% Q
20% Q
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U & AfET wRRys A # 9 @ Pl meeeiear Fa §
Ans - X 1. +10%

v 2 £5%
X 3 +20%
X 4 +10%
Question ID : 719399369
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Chosen Option : 4
Q) - e FEE T A w1 gui e # 337 g37 ¥
o it arafiEr #r smer &
X 2 e arafer & gEaaT 7
X 3w IiET F @HER A
X 4. T amafier $r gaer &
Question ID : 719399446
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%5 DC HIeT FeréT & g ¥ e B e ¥
e X e e 9Ty @ 1
v 2 gifEe e w Tehg ==
X o Brez F T gfor # giE ==
X 4 g9 EMF % &5 Fi
Question ID : 719399420
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%91 TATE ST THT T F T, 240 V H Foem$ F w4 V F frad a0 g5a 22
Ans 1100
<2 40
<380
v 4 80
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S0 T (FERSET) FRE B




Ans KT

Aol wgfster fagga arr / fswan wgfeer fega amr

o 2

X 3

F&@Wﬂﬁiﬂﬁ@?%!ﬂﬁmwﬁwﬁqﬁﬂm

X 4

mwﬁwﬁﬁawrwﬂﬁwﬁ@aw
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Y BT F ¥ T R F o9 DC Toes 9% e T 87

e o1 aE AT
X 2 TR o
#< s mfgge I o
Ko Fagd o
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Q1 st # greT & e &, RIS YO AT Za Hewed 2 3

s X R WRT
K2 qar =T &

v 3 feTer-thef DOL T &

X4 4 gige TERT ¥
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B RCCOaF waer  wea & fFar =

Ans X133 kV & 66 kV
<266 kV & 220 kV

X311 kV & 33 kV
v 11 kV a&

[ Question ID : 719399494
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% A F FOH F AR, See fFEe e A €7
Ans X1 V=1«£R

X2V=|-R
v V=1xR
X4 V=1I/R
Question ID : 719399367
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le =T e & RIT Gl sEiee e # A#aw HER &l

Ans X1 40 em % 40 em * 8.5 mm
v 2 80 cm x 60 cm * 6.35 mm
X330 em x 30 em > 1.3 mm
/<480 cm x 80 cm x 2.18 mm

Question ID : 719399384
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%e =R @ wHEiRe afmy w2
Ans X132 °C & 100 °C
X20°C &80 °C
V332 °C & 88 °C
X 220°C ¥80 °C
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T @) B e 3
Ans !1. 29

<2 35

<3 40

X 4 45
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Status : Answered
Chosen Option : 1




Q1 ux FA-%=1, 4 9T, 50 Hz I JedehlTerh AT I Jedenrell I fahaar grar e

18
Ans X 1. 750 RPM
2 21000 RPM
v 31500 RPM
# 4 3000 RPM
Question ID : 719399456
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% TF B AT & iy gofa & e ok 'Y g 2
Ans X 1. 300
< 2. 500
v 3.200
< 4400
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%J arF dit 9T, DOL TereT & waer #1 -t F SO AT F A T F e G
Ans 1. 35.0 HP T
/<2 250 HP T
v 350 HP 3%
X 4 15.0 HP =%
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% weor (Fwe) Y F BT By A\ # oy o e
K. gfeEde AT
X 2 9 A
X 3 FFAEE AT
v 4 DC AT AT
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% fae ssfaeT mfee &, a1 grar gl

s X FH T FH TH




v 2 T

X F T ¥ TH

X4 TH
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Q.'I . - - -
53 BT W3 ¥ 8 A B 9T WR A, 7IgT A FE g gl
A X sTE
1.
v T

X3 BT T F TR
X 4 oEd e ¥ FH
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% TITET ¥ T gy & Sww = gt 2
e X FEeeT oo
X 2 TEerT gaTg @ feem

v s 9fig gumTw $r e

X 4 AT Fr Y
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Q.1
25 B & ﬂ'ﬁ:T - %I

Ans 1. 386000 m/s
# 2. 086000 m/s
V2186000 m/s
X 4 286000 m/s
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% BT TTEEER F AT a7 A% AT 2
A X uEe e TEWET




v 2 e TEBEY
X 3. TIET TERHT
X 4 FE TAPIR

Question ID : 719399422
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Ans 1. Open circuit test

/< 2. Short circuit test
/< 3. Continuity test

« 4 Murray loop test

%71 Which of the following tests is used to detect the earth fault location of a cable?

Question ID : 719399366
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Ans X1 g
X212
X3 6
v 4

%; TF 3-%=, 50 Hz I SOT AT 1500 RPM 9X ot T §1 91 #r S=ar frae e
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Ans x1% nﬁ
(2.ﬁ|-.rq
X 3. FAEHET
X 4 Fre Jex

% T & F HiF @ segere giery wlew 87
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Ans x-l_ A
v A

m
N

% 3T aEfT A, 2T




X3A=4

X+ A=P
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Chosen Option : 2
Q.1 .
a1 STOT AEY & U I B T == g

A o sETE R
Kzﬂﬂﬁﬁmm
v affaes FR
X 4 gmEr B
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% 3T BRI TIE F¥ FH TS 22
e X1 I\ FEFEX F IAT FF

v
FsFel AT ACSR Fsaed & vUT & &= 39 HaUa F:5

X 3 OF &F FIFIT FT TIT FF
X4 FHH AT T T9RT

Question ID : 719399482
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Chosen Option : 2

B MMF&ooT &g &

Ans X 1. magnetomoving force (FTREIAEITET BIE)
X 2. magnet moving force (As=T '{I%I?T HY)
v 3. magnetomotive force (H7acrAIRT ®IA)
< 4 magnetomotor force (HTACIAET HIH)

Question ID : 719399390
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%4 3E 3R W, drhe TR e WOT AT # Ol &R e &
o fiRE HP & &7 e




X 2 FeRa HP & st
X3 frdifRa HP & &=
X 4 feifE HP &1 & 3@
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03~51 AC affe #, 30 deeat 3R e & @ & &7 3R 90° ¥, af faega o @nh
Ans o FUAGH

2 U

X3 HOFaE

P ==-iry
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% T U e @ ofiE dei # fafise aeeT w4 €7
Ans 11100
v 2 1280

# 31200
# 41000
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Y 3= TR F haw §EEE 9 B 2
Ans 110

V22

X34

X486

Question ID : 719399459
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°3'; Power factor is

Ans 1. real power = apparent power

+ 2. real power/apparent power




/< 3. apparent power/real power

/< 4. real power * apparent power

Question ID : 719399392
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S arafET yomet &, TeY wEaT AR e aher . #
Ans (13@3 ﬁ
X 2 S T

X 3 drar seorfea amfEr
X 4 Fepdr Y FPT-HREr amieEr
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% DC #rex $r ferw o F 927 57 Far 22

Ane X 1. HET A (AT Foas) & aR @ AOH H aed #
X 2 Bz AR 3R (@F) FT FaRE §eo W
23 NVC FaAseld deod &
V' 4 Bres o1 HHEHET FAFT (FE &) FTFIE F:T
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W - FTer FIeX TET H, T FeA Fal T AT 82
e ferdsor wfde #r gmer &

X 2 NVC & FAET

X o 30 I & FARAR

2 4 NVC 3R NVC F T@aeiaR
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% TEHET ¥ A-E e F AL g ¥
Ans X 1.10% T 15%




X 2 15% & 20%
<3 5% T 10%
v 4 2% B 5%
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‘:-; TAA/ICTC TR & HiTemems s &1 F g F T g R e

e X e wTEEY & ST arer ST
X 2 SfrmE qant & S T T I I
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% BIS % 3R, &% ¥ fE=w &1 #r F=mE 2l =R
Ans o115 m

X2 090 m

K3 225 m

X 4075 m

Question ID : 719399373
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U T wE # segee WA & fw e & ¥ R weel @ e R S g2

o~

e K afer

v 2 3HF FegelrdT
2 3. FHIET
X 4 HEET 99T
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Q.1
16 SFe Tlde FFT Fr Frehe Siees 2 g

Ans X122 KV & 66 KV
v 2 36 KV & 760 KV




X3 1KV & 22 KV
X 4220 V& 1100 V

Question ID : 719399479
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3'71 Porcelain is a/an

Ans  of 1. insulator
/< 2. conductor
/< 3. semi-conductor

/< 4. super conductor
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% T & ¥ ST @ ve g sueRT 37

Are X Sreedrex

v 2 TSt (KWH) et

X 3 FreAreT

X4 TEdET #ex
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% DC ST=¥ex #r ardr F T

s X affeer B
V2 ST e A T FEI
X 3. TegHATH

X o fagga el (3geies) wwEn

Question ID : 719399411
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%5 The unit of magnetic flux is

Ans X 1. Tesla
/< 2. Henry
W 3 Weber




/< 4 Weber.Meter

Question ID : 719399388
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